BT TRIA O - HEHHEE X T Eﬁﬁiﬁfﬁmﬁ KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,524 86,991 41503 45,488
RIRET1T 6 15 9 6
RIRET2T 26 55 27 28
AIEET3T 182 598 295 303
RIRET4T 399 976 480 496
B 613 1,644 811 833
REH 2,661 6,200 2,909 3,201
L&A 4,220 9,531 4,483 5,048
5E 2,560 6,024 2,932 3,092
B AN 1,260 2,876 1,339 1,537
BERT 1,253 1,921 903 1,018
BER2T 689 1,338 647 691
BHERST 389 882 433 449
g 2,331 4,141 1,983 2,158
BARE 254 646 328 318
= 2,199 5,242 2,478 2,764
hERE 629 1,456 665 791
e 2,397 5,220 2,513 2,707
25 L ET 2,249 5,125 2,452 2,673
B &AL BT 79 168 67 101
HEFILET1T 567 1,224 575 649
HEFILET2T 621 1,371 645 726
HEZFILAT3T 613 1,450 712 738
g 1,880 4213 1,999 2,214
B & it B Fr ET 694 1,666 801 865
BHEREBET1T 604 1,241 591 650
BHERERET2T 760 1,764 860 904
BHERERETST 778 1,688 768 920
HERERET4T 449 977 477 500
HEHFMHETST 821 1,698 803 895
HEHFHET6T 879 2,009 959 1,050
HEFRET7T 831 1,848 887 961
HERERETST 71 217 101 116
£t| 5193 11442 5,446 5,996
HEF R FET 1,838 3,966 1,930 2,036
S|EFET1T 568 1,532 763 769
S|EFET2T 761 1,818 868 950
S|EFET3 T 719 1,441 675 766
g 2,048 4,791 2,306 2,485
ERE1T 571 1,350 643 707
EIRET2T 388 1,032 515 517
EREIST 472 1,311 640 671
EIRETAT 697 1,541 704 837
EIZEIST 484 1,004 508 496
g 2,612 6,238 3,010 3,228
MEH 2,773 6,349 3,019 3,330
J\THET1T 32 36 12 24
J\THET2T 26 64 31 33
J\THEI3T 55 121 56 65
B 113 221 99 122
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